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V1(b) 6sn7

2

V1(a) 6sn7

L1 opt
200mH

2
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R2
1k

R3
1k

C3
0.22uf 400v

R6
220k

C4 47uF 450v

R11
1k

R12
100k R14

750

G

8 ohms

R15
15k

C6
22uF 160v

L2 
5-8 H 200ma

C7
220uF 450

C8
47uF 450v

2 8

5u4g

5 vac

320 vdc

C9

10000 uF 160v

pin 1 300b

pin 4 300b

R16
15-2w

R17
15-2w

R18
2k

R19
2k

C11
220uF 160v

R21
4k7

R22

22k

R23
68k

R24
33k

* 100 uF 160v supplied

*

C12
10uF 400v***

*** 22uF 450v supplied and fitted
**33pF supplied

6.3vac 6sn7 x 2

R27
330k

C13
22pf

rbv5006

R28
0.25 2w

R29
0.25 2 w

Hammond 266L12 
6v @2A x 2

resistor value to check

would this work?
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